/8 Al EERm

SHECE#RF

JU—ZADEHHEIEY CHEBZT O BaICHETEREERFZSECARLTCVLE T,

LF-AF C LF-CF
LF-B# A D LF-DF C. Rci1/8 5
LF-EfZ | i (PT1/8)
L . W b - s
F i o = v
RN} Ll rive L]
%8 (PT1/8)
> B{:mm BiImm
A B R vl L |L|c|D
o | RV | RV L |Li|F|C|D Rc1/8
LF-AF (Eﬂjg) Mex0.75| 20 | 12| 2 |12 12 LF-DF%  |M8xi|18|10| 10|18
LF-BF | M8x1 |M6x0.75[18.5/ 10 |2.5[9.5| 18
A RC1/8
LF-EFZ | (p11/g)| MEX1 |20 [ 12| 2 | 12| 12
SF-A 18 SF-CH
SF-Bf C 10t SF-D
SF-Ef%
D 98| -
——F\A R1/8
B (PT1/8)
B mm BT mm
A [ B e [xUm[C D
x| %8| xUM |t | C | D o1/8
A RC1/8 - 2
SF-ARZ| (o117 M6¥075| 2 | 12 (138 SF-Df¥ M8x1| 10 [11.5
SF-BR#2| msx1 [Mex075| 2 |10 [11.5
A RC1/8
SF-EFZ | (p11/g)| MEX1 | 2 | 12 (1338
LD
M6X0.75 8 104
8 -
145 o ]
45 [T ‘ i
1.75 L+= 1.75
M5x0.5, 62 -
¢6.5
B mm
jiZaM RIER
LDF M6X0.75

&) BRFFSNTVSEREEMFIFHODIAARLD FEFBD UIEVWTLEE WV KEEZ B STIREMD b D XY

N24-34 R



